

### Vivekanand Education Society's Institute of Technology

(ARtitated to University of Murrica), Approved by AICTE & Resignized by Sout. of Maharachtra)

5.1.2 Total number of students benefited by scholarships, free ships, etc provided by the department / non- government bodies, industries, individuals, philanthropists during the AY 2022-23

## List of students benefited by Scholarship

#### **Index**

Sr.No	Content	Page No
1	Declaration by Principal	2
2	<u>List of Students</u>	3



# Vivekanand Education Society's

### Institute of Technology

(Affiliated to University of Mumbai, Approved by AICTE & Recognised by Govt. of Maharashtra)

Dr. (Mrs.) J. M. Nair M. Tech., Ph.D. (IIT-B) Principal

Ref. No.: VESIT/ JMN 1325 2023-24

Date 26/10/2023

#### TO WHOM SO IT MAY CONCERN

I, Dr. (Mrs.) Jayalekshmi M Nair, Principal (HOI), Vivekanand Education Society's Institute of Technology, do hereby state that the documents uploaded on NAAC portal are duly signed by Principal (HOI).

The additional documents uploaded on Institute's website (<a href="https://vesit.ves.ac.in/">https://vesit.ves.ac.in/</a>) are also authentic and does not need any extra validation.

Dr. (Mrs) Jayalekshmi M Nair

Principal

Vivekanand Education Society's Institute of Technology Hashu Advani Memorial Complex,

Collector's Colony

Chembur, Mumbai, Maharashtra 400074



AY 2022-23

# VES Institute of Technology Scholarship (Non Govt) - 1-April-2022 to 31-March-2023 BE STUDENTS

SR NO	STUDENT NAME	CLASS/ DEPT	TRUST NAME	AMOUNT in
1	SAHIL JADHAV	EXTC	SINKHAI FOUNDATION	10000
2	VIKRAM VIRWANI	CMPN	BHARTIYA SINDHU SABHA	15000
3	MANAV KUKREJA	ETRX	SINKHAI FOUNDATION	10000
4	NARA SIMRAN	INFT	PARPATIBAI EDANMAL DASWANI CH T	10000
5	KASHISH JADHWANI	CMPN	PARPATIBAI EDANMAL DASWANI CH T	
6	KARUNA M. HOTMALANI	CMPN	PARPATIBAI EDANMAL DASWANI CH T	10000
7	AMAAN RIYAZ RADHANPURA	CMPN	JAI CORPORATION LTD	17084
8	DHRUV RAJUBHAI AHIR	CMPN	JAI CORPORATION LTD	17084
9	KHUSHBOO DALWANI	CMPN	SUNDER SHEWAK SABHA	25000
10	NIKITA SUNIL AHUJA	CMPN	SHRI VENKTESHWAR NIDHI TRUST	11000
11	KOMAL GURMUKHDAS ASRANI	CMPN	SHRI VENKTESHWAR NIDHI TRUST	11000
12	SAKSHI JAIKISHAN GANGWANI	CMPN	SHRI VENKTESHWAR NIDHI TRUST	11000
13	KUSHBOO VIJAY DALWANI	CMPN	SHRI VENKTESHWAR NIDHI TRUST	11000
14	KOMAL GURMUKHDAS ASRANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SA	
16	KOMAL GURMUKHDAS ASRANI	CMPN	BHARTIYA SINDHU SABHA	15000
17	NIKITA SUNIL AHUJA NIKITA SUNIL AHUJA	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SA	
18	SAKSHI JAIKISHAN GANGWANI	CMPN	BHARTIYA SINDHU SABHA	15000
19	MUSKAN DEEPAKLAL CHHABRIA	CMPN	BHARTIYA SINDHU SABHA	15000
20		CMPN	KAMLA CHAINRAI LALA SR CITIZEN	20000
21	KRISH JAKHARIA	INFT	MANSUKHALAL JIVRAI MEHTA VIDYAR	25000
22	KHUSHI BHATIA	CMPN	BHARTIYA SINDHU SABHA	15000
23	NIKITA MURLIMAL NARWANI SAMIKSHA WADIBHASME	CMPN	BHARTIYA SINDHU SABHA	15000
24	MUSKAN BAHRANI	INFT	OHM JYOTI	115996
25	MANSI RANGWANI	CMPN	BHARTIYA SINDHU SABHA	15000
26	HITESH RAMRAKHYANI	INFT	SUNDER SHEWAK SABHA	60858
27	AJAY NAIR	CMPN	SUNDER SHEWAK SABHA	30000
28	SONAL SANJAY SHINDE	CMPN ETRX	OHM JYOTI	60858
	ANGALI AGHICHA	CMPN	PARPATIBAI EDANMAL DASWANI CH TI	10000
	HARSHA CHELANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SA BHARTIYA SINDHU SABHA	20000
31	HITESH RAMRAKHYANI	CMPN	BHARTIYA SINDHU SABHA	15000
32	DIPTI MENGHANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SA	15000
33	DIPTI MENGHANI	CMPN	SUNDER SHEWAK SABHA	15000
	KHUSHI MANIK	AIDS	PARPATIBAI EDANMAL DASWANI CH TI	20000
	HITESH RAMRAKHYANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SA	15000
	PARUL PRITAMWANI	EXTC	PARPATIBAI EDANMAL DASWANI CH TI	20000
	JAY MUKESH DADLANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SA	10000 15000
38	SNEHA BHANDARI	ECS	PARPATIBAI EDANMAL DASWANI CH TI	10000
	SNEHA BHANDARI		VES TRUST	25000
40	MANSI RANGWANI		SUNDER SHEWAK SABHA	39767
41	KHUSHI MANIK	4700	BHARTIYA SINDHU SABHA	15000
	DHRUV RAJUBHAI AHIR		JAI CORPORATION LTD	17134
43	DIVYANG PATEL		JAI CORPORATION LTD	15000
	RAHUL MUKESH GHAI		PARPATIBAI EDANMAL DASWANI CH TE	15000
45	KARUNA M. HOTMALANI	CMPN	SHRI JHAMATMAL TOLARAM WADHWAI	15000
	KASHISH JADHWANI	CMPN	SHRI JHAMATMAL TOLARAM WADHWAI	15000
	KARUNA M. HOTMALANI		BHARTIYA SINDHU SABHA	15000
	KASHISH JADHWANI		BHARTIYA SINDHU SABHA	15000
	MANSI RANGWANI	INFT	BHARTIYA SINDHU SABHA	15000
	LAVINA MANGLANI	INFT	PARPATIBAI EDANMAL DASWANI CH TE	15000
	SNEHA KADAMBALA	AIDS	VES SAMARTHAN	15000
	MAHESH RAUT		VES SAMARTHAN	10000
	PARUL PRITAMWANI		VES SAMARTHAN	30000
	RAHUL GHAI	INFT	VES SAMARTHAN	30000
	KHUSHI MANIK		VES SAMARTHAN	30000
	LAVINA MANGLANI		VES SAMARTHAN	30000
	HARSH CHAINANI	AIDS	VES SAMARTHAN	50000
	PRIYANSHU DUBEY	INST	VES SAMARTHAN	15000
59	MAROOF MERCHANT	EXTC	VES SAMARTHAN	15000

### VES Institute of Technology Scholarship (Non Govt) - 1-April-2022 to 31-March-2023 BE STUDENTS

SR NO	STUDENT NAME	CLASS/ DEPT	TRUST NAME	AMOUNT in
	KHUSHBOO DALWANI	CMPN	VES SAMARTHAN	15000
61	NIKITA NARWANI	CMPN	VES SAMARTHAN	15000
	MD AYAN KHAN	EXTC	VES SAMARTHAN	30000
63	ROSHNI TALREJA	INFT	VES SAMARTHAN	10000
64	KARUNA M. HOTMALANI	CMPN	VES SAMARTHAN	50000
	KASHISH JADHWANI	CMPN	VES SAMARTHAN	50000
	MUSKAN CHHABRIA	CMPN	VES SAMARTHAN	45187
	JIYA NARESH GANGWANI	CMPN	VES SAMARTHAN	22500
	MANSI RAM RANGWANI	INFT	VES SAMARTHAN	10000
	PARUL OMPRAKASH PRITAMWANI	EXTC	VES SAMARTHAN	10000
	LAVINA RAM MANGLANI	INFT	VES SAMARTHAN	32500
	KHUSHBOO DALWANI	CMPN	VES SAMARTHAN	10000
	NIKITA NARWANI	CMPN	VES SAMARTHAN	10000
	MUSKAN CHHABRIA	CMPN	VES SAMARTHAN	10000
	KASHISH JADHWANI	CMPN	VES SAMARTHAN	50000
	KARUNA M. HOTMALANI	CMPN	VES SAMARTHAN	50000
	ROSHNI TALREJA	INFT	VES SAMARTHAN	10000
	HARSH NITIN CHAINANI	AIDS	VES SAMARTHAN	10000
	PRIYANSHU GURWANI	CMPN	Stundent Aid Fund Scholarship	15000
	MAHENDRA GIRASE	CMPN	Stundent Aid Fund Scholarship	15000
	AKANKSHA DILIP GAWADE		Stundent Aid Fund Scholarship	15000
	VAISHANAV KONDHALKAR	INFT	Stundent Aid Fund Scholarship	15000
	MADHAV BHUTADA	CMPN	Stundent Aid Fund Scholarship	15000
83	HARSH LOYA	CMPN	Stundent Aid Fund Scholarship	15000
	SNEHAL PATIL	EXTC	Stundent Aid Fund Scholarship	15000
	AYUSH PRAMOD KOTKAR	EXTC	Stundent Aid Fund Scholarship	15000
	VINAYAK SAMBHAJI RASAL	INST	Stundent Aid Fund Scholarship	15000
	PRITAM MAHADEO DHAMAK		Stundent Aid Fund Scholarship	15000
	M KAIF A RAJAK QURESHI	CMPN	Stundent Aid Fund Scholarship	15000
	VIRAJ JOSHI	CMPN	Stundent Aid Fund Scholarship	15000
	PIYUSH SUNIL BHOIR	INST	Stundent Aid Fund Scholarship	15000
	RAKESH RAJENDRA GOLE		Stundent Aid Fund Scholarship	15000
	LAVESH PREM LULLA	CMPN	Stundent Aid Fund Scholarship	15000
	PIYUSH THAREWAL	ETRX	Stundent Aid Fund Scholarship	15000
94	OMPRAKASH SHUBHASHJI DHAWALE	ETRX	Stundent Aid Fund Scholarship	15000
	SHREYA RAVINDRA DHAMANE	EXTC	Stundent Aid Fund Scholarship	15000
	HARSHAL TALREJA	EXTC	Stundent Aid Fund Scholarship	15000
	SHRUTI MAHENDRA PATIL		Stundent Aid Fund Scholarship	15000
	VIRAJ KHARADE	INST	Stundent Aid Fund Scholarship	15000
	SIDDHESH DEEPAK SHIRSHIVKAR	EXTC	Stundent Aid Fund Scholarship	15000
	MANSI RANGWANI		Stundent Aid Fund Scholarship	15000
	PRASAD GOURSHETTIWAR		Stundent Aid Fund Scholarship	15000
	NAFEES AKHATER	EXTC	Stundent Aid Fund Scholarship	15000
	BHAKTI BHANUDAS SAWASHE	INST	Stundent Aid Fund Scholarship	15000
	DIPTI MENGHANI		Stundent Aid Fund Scholarship	15000
	SNEHA BHANDARI	ECS	Stundent Aid Fund Scholarship - Help	75000
	PRANAV JITENDRA UBARHANDE		Stundent Aid Fund Scholarship	15000
	SHREYASH DHASADE	INFT :	Stundent Aid Fund Scholarship	15000
	TANISHA PATIL		VIVEKANAND JYOTI SCHOLARSHIP	21500
	DMKAR PAWAR		VIVEKANAND JYOTI SCHOLARSHIP	21500
	SAHIL MATLAI		VIVEKANAND JYOTI SCHOLARSHIP	21500
	ARPIT BURLEY		VIVEKANAND JYOTI SCHOLARSHIP	21500
	/EDANT UPADHYE		VIVEKANAND JYOTI SCHOLARSHIP	21500
13 A	YAN KHAN		VIVEKANAND JYOTI SCHOLARSHIP	21500
	OTES : - INCLUDING ALL DEPTS			

### VES Institute of Technology Scholarship (Non Govt) - 1-April-2022 to 31-March-2023 BE STUDENTS

SR NO	TRUST NAME	NO. of Students	AMOUNT in Rs.
1	SINKHAI FOUNDATION	10000*2	20000
2	BHARTIYA SINDHU SABHA	15000*13	195000
3	PARPATIBAI EDANMAL DASWANI CH TR	10000*6	60000
4	PARPATIBAI EDANMAL DASWANI CH TR	15000*3	45000
5	STUDENT AID FUND SCHOLARSHIP	15000*29	435000
6	STUDENT AID FUND Education Help	1	75000
7	JAI CORPORATION LTD	17084*2	34168
8	JAI CORPORATION LTD	1	17134
9	JAI CORPORATION LTD	1	15000
10	SUNDER SHEWAK SABHA	1	25000
11	SUNDER SHEWAK SABHA	1	60858
12	SUNDER SHEWAK SABHA	1	30000
13	SUNDER SHEWAK SABHA	1	20000
14	SUNDER SHEWAK SABHA	1	39767
15	SHRI VENKTESHWAR NIDHI TRUST	11000*4	44000
16	SAI VILAYATRAI SAI JIWATSINGH & SAI V	15000*3	45000
17	SAI VILAYATRAI SAI JIWATSINGH & SAI V	20000*3	60000
18	KAMLA CHAINRAI LALA SR CITIZEN	1	20000
19	MANSUKHALAL JIVRAI MEHTA VIDYARTHI	1	25000
20	ОНМ ЈҮОТІ	1	115996
21	ОНМ ЈҮОТІ	1	60858
22	VES TRUST	1	25000
23	SHRI JHAMATMAL TOLARAM WADHWANI O	15000*2	30000
24	VES SAMARTHAN	10000*9	90000
25	VES SAMARTHAN	15000*5	75000
26	VES SAMARTHAN	1	22500
27	VES SAMARTHAN	30000*5	150000
28	VES SAMARTHAN	1	32500
29	VES SAMARTHAN	1	45187
30	VES SAMARTHAN	50000*5	250000
31	VIVEKANAND JYOTI SCHOLARSHIP	21500*6	129000
	2291968		

**NOTES: - INCLUDING ALL DEPTS** 



# VES Institute of Technology Scholarship (Non Govt) - 1-April-2022 to 31-March-2023 MCA STUDENTS

SR NO	STUDENT NAME	CLASS/ DEPT	TRUST NAME	AMOUNT in Rs.
1	YOGESH PAHUJA	MCA	BHARTIYA SINDHU SABHA	15000
2	DISHA KHUSHALANI	MCA	SWAMI DEVPRAKASH JANAKALYAN TRUST	10000
3	SAHIL FARUKH KHAN	MCA Stundent Aid Fund Scholarship		15000
4	VAISHNAVI PARAB	MCA	VIVEKANAND JYOTI SCHOLARSHIP	21500
	TOTAL			



### VES Institute of Technology Scholarship (Non Govt) - 1-April-2022 to 31-March-2023 MCA STUDENTS

SR NO	TRUST NAME	NO. of Students	AMOUNT in Rs.
1	BHARTIYA SINDHU SABHA ( MCA )	1	15000
2	SWAMI DEVPRAKASH JANAKALYAN TRUST	1	10000
3	Stundent Aid Fund Scholarship	1	15000
4	VIVEKANAND JYOTI SCHOLARSHIP	1	21500
	61500		

